

Contents lists available at ScienceDirect

# Journal of Functional Analysis

www.elsevier.com/locate/jfa

# Fractional Caffarelli–Kohn–Nirenberg inequalities $\stackrel{\Rightarrow}{\sim}$



Hoai-Minh Nguyen<sup>a,\*</sup>, Marco Squassina<sup>b</sup>

 <sup>a</sup> Department of Mathematics, EPFL SB CAMA, Station 8, CH-1015 Lausanne, Switzerland
 <sup>b</sup> Dipartimento di Matematica e Fisica, Università Cattolica del Sacro Cuore, Via dei Musei 41, I-25121 Brescia, Italy

#### ARTICLE INFO

Article history: Received 22 June 2017 Accepted 17 July 2017 Available online 26 July 2017 Communicated by H. Brezis

MSC: 46E35 28D20 82B10 49A50

Keywords: Fractional Sobolev spaces Hardy and Caffarelli–Kohn–Nirenberg inequality

#### ABSTRACT

We establish a full range of Caffarelli–Kohn–Nirenberg inequalities and their variants for fractional Sobolev spaces. © 2017 Elsevier Inc. All rights reserved.

\* Corresponding author.

*E-mail addresses:* hoai-minh.nguyen@epfl.ch (H.-M. Nguyen), marco.squassina@unicatt.it (M. Squassina).

 $\label{eq:http://dx.doi.org/10.1016/j.jfa.2017.07.007} 0022\text{-}1236/ \ensuremath{\odot}\ 2017$  Elsevier Inc. All rights reserved.

<sup>&</sup>lt;sup>\*</sup> The second author is member of *Gruppo Nazionale per l'Analisi Matematica, la Probabilità e le loro Applicazioni* (GNAMPA) of the *Istituto Nazionale di Alta Matematica* (INdAM). Part of this paper was written during a visit of M.S. in Lausanne in June 2017. The hosting institution is gratefully acknowledged.

### 1. Introduction

Let  $d \ge 1, p \ge 1, q \ge 1, \tau > 0, 0 \le a \le 1, \alpha, \beta, \gamma \in \mathbb{R}$  be such that

$$\frac{1}{\tau} + \frac{\gamma}{d}, \quad \frac{1}{p} + \frac{\alpha}{d}, \quad \frac{1}{q} + \frac{\beta}{d} > 0$$

and

$$\frac{1}{\tau} + \frac{\gamma}{d} = a\left(\frac{1}{p} + \frac{\alpha - 1}{d}\right) + (1 - a)\left(\frac{1}{q} + \frac{\beta}{d}\right).$$

In the case a > 0, assume in addition that, with  $\gamma = a\sigma + (1 - a)\beta$ ,

$$0 \le \alpha - \sigma$$

and

$$\alpha - \sigma \le 1$$
 if  $\frac{1}{\tau} + \frac{\gamma}{d} = \frac{1}{p} + \frac{\alpha - 1}{d}$ 

Caffarelli, Kohn, and Nirenberg [5] (see also [4]) proved the following well-known inequality

$$||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^{d})} \leq C||x|^{\alpha}\nabla u||_{L^{p}(\mathbb{R}^{d})}^{a}||x|^{\beta}u||_{L^{q}(\mathbb{R}^{d})}^{(1-a)} \quad \text{for } u \in C_{c}^{1}(\mathbb{R}^{d}).$$
(1.1)

In this paper, we extend this family of inequalities to fractional Sobolev spaces  $W^{s,p}$ . In the case a = 1,  $\tau = p$ , the corresponding inequality was obtained for  $\alpha = 0$  and  $\gamma = -s$ in [7,6] and for  $\tau = pd/(d-sp)$ ,  $-(d-sp)/p < \alpha = \gamma < 0$ , and 1 in [1]. To ourknowledge, a general version of such inequalities in the framework of fractional Sobolevspaces was not available.

For  $p > 1, 0 < s < 1, \alpha, \alpha_1, \alpha_2 \in \mathbb{R}$  with  $\alpha_1 + \alpha_2 = \alpha$ , and  $\Omega$  a measurable subset of  $\mathbb{R}^d$ , set

$$|u|_{W^{s,p,\alpha}(\Omega)}^{p} = \int_{\Omega} \int_{\Omega} \frac{|x|^{\alpha_{1}p}|y|^{\alpha_{2}p}|u(x) - u(y)|^{p}}{|x - y|^{d + sp}} \, dx \, dy \le +\infty \quad \text{ for } u \in L^{1}(\Omega).$$

In the case  $\alpha_1 = \alpha_2 = \alpha = 0$ , we simply denote  $|u|_{W^{s,p,0}(\Omega)}$  by  $|u|_{W^{s,p}(\Omega)}$ .

Let  $d \ge 1, \, p > 1, \, q \ge 1, \, \tau > 0, \, 0 \le a \le 1, \, \alpha, \, \beta, \, \gamma \in \mathbb{R}$  be such that

$$\frac{1}{\tau} + \frac{\gamma}{d} = a\left(\frac{1}{p} + \frac{\alpha - s}{d}\right) + (1 - a)\left(\frac{1}{q} + \frac{\beta}{d}\right).$$
(1.2)

In the case a > 0, assume in addition that, with  $\gamma = a\sigma + (1 - a)\beta$ ,

H.-M. Nguyen, M. Squassina / Journal of Functional Analysis 274 (2018) 2661-2672 2663

$$0 \le \alpha - \sigma \tag{1.3}$$

and

$$\alpha - \sigma \le s$$
 if  $\frac{1}{\tau} + \frac{\gamma}{d} = \frac{1}{p} + \frac{\alpha - s}{d}$ . (1.4)

Then, we have

**Theorem 1.1.** Let  $d \ge 1$ , p > 1, 0 < s < 1,  $q \ge 1$ ,  $\tau > 0$ ,  $0 < a \le 1$ ,  $\alpha_1$ ,  $\alpha_2$ ,  $\alpha$ ,  $\beta$ ,  $\gamma \in \mathbb{R}$  be such that  $\alpha = \alpha_1 + \alpha_2$ , and (1.2), (1.3), and (1.4) hold. We have

i) if  $1/\tau + \gamma/d > 0$ , then

$$|||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^{d})} \leq C|u|^{a}_{W^{s,p,\alpha}(\mathbb{R}^{d})}|||x|^{\beta}u||^{(1-a)}_{L^{q}(\mathbb{R}^{d})} \quad for \ u \in C^{1}_{c}(\mathbb{R}^{d}),$$

ii) if  $1/\tau + \gamma/d < 0$ , then

$$||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^{d})} \leq C|u|^{a}_{W^{s,p,\alpha}(\mathbb{R}^{d})}||x|^{\beta}u||^{(1-a)}_{L^{q}(\mathbb{R}^{d})} \quad for \ u \in C^{1}_{c}(\mathbb{R}^{d} \setminus \{0\}).$$

Assertion *ii*) was established in [6] for a = 1,  $\tau = p$ ,  $\alpha_1 = \alpha_2 = 0$ , and  $\gamma = -s$ .

The proof of Theorem 1.1 is given in Section 2. Note that the conditions

$$\frac{1}{p} + \frac{\alpha}{d}, \quad \frac{1}{q} + \frac{\beta}{d} > 0$$

are not required in Theorem 1.1. Without these conditions, the RHSs in the estimates of Theorem 1.1 are finite for  $u \in C_c^1(\mathbb{R}^d)$ . The case  $1/\tau + \gamma/d = 0$  will be considered in Section 3. In contrast with the mentioned results on fractional Sobolev spaces where the condition  $\alpha_1 = \alpha_2 = \alpha/2$  is used, this is not necessary in our work.

The idea of the proof is quite elementary and inspired by the work [5]. In the case  $0 \leq \alpha - \sigma \leq s$ , the proof uses a variant of Gagliardo–Nirenberg's interpolation inequality for fractional Sobolev spaces (Lemma 2.2) and is as follows. We decompose  $\mathbb{R}^d$  into annuli  $\mathscr{A}_k$  defined by

$$\mathscr{A}_k := \left\{ x \in \mathbb{R}^d : 2^k \le |x| < 2^{k+1} \right\},$$

and apply the interpolation inequality to have

$$\left(\int_{\mathscr{A}_k} \left| u - \int_{\mathscr{A}_k} u \right|^{\tau} dx \right)^{1/\tau} \le C \left( 2^{-(d-sp)k} |u|_{W^{s,p}(\mathscr{A}_k)} \right)^{a/p} \left(\int_{\mathscr{A}_k} |u|^q \right)^{(1-a)/q}.$$

Here and in what follows, we denote

2664 H.-M. Nguyen, M. Squassina / Journal of Functional Analysis 274 (2018) 2661-2672

$$\int_{D} v = \frac{1}{|D|} \int_{D} v \, dx$$

for a measurable subset D of  $\mathbb{R}^d$  and for  $v \in L^1(D)$ . Using again the interpolation inequality in a slightly different way, we can obtain appropriate estimates for the averages and derive the desired conclusion. This is the novelty in our approach. The proof in the case  $\alpha - \sigma > s$  is via interpolation and has its roots in [5]. Similar ideas in this paper are used in [8] to obtain several improvements of (1.1) in the classical setting. In the case  $1 , and <math>\sigma > -1$ , one can derive (1.1) using the results in [2], [3] and [7] (see Remark 2.3).

The paper is organized as follows. In Section 2, we present the proof of Theorem 1.1. In Section 3, we discuss the case  $1/\tau + \gamma/d = 0$ .

### 2. Proof of the main result

We first state a variant of Gagliardo–Nirenberg inequality for fractional Sobolev spaces.

**Lemma 2.1.** Let  $d \ge 1$ , 0 < s < 1, p > 1,  $q \ge 1$ ,  $\tau > 0$ , and  $0 < a \le 1$  be such that

$$\frac{1}{\tau} = a\left(\frac{1}{p} - \frac{s}{d}\right) + \frac{1-a}{q}.$$
(2.1)

We have

$$||u||_{L^{\tau}(\mathbb{R}^d)} \le C|u|^a_{W^{s,p}(\mathbb{R}^d)} ||u||^{1-a}_{L^q(\mathbb{R}^d)} \quad for \ u \in C^1_c(\mathbb{R}^d),$$

for some positive constant C independent of u.

**Proof.** The result is essentially known. Here is a short proof of it. We first consider the case 1/p - s/d > 0. Set  $p^* := pd/(d - sp)$ . We have, by Sobolev's inequality for fractional Sobolev spaces,

$$||u||_{L^{p^*}(\mathbb{R}^d)} \le C|u|_{W^{s,p}(\mathbb{R}^d)}.$$

In this proof, C denotes a positive constant independent of u. Inequality (2.2) is now a consequence of Hölder's inequality. We next consider the case  $1/p - s/d \leq 0$ . Since

$$1/p - s/d \neq 1/q,$$

by a change of variables, one can assume that

$$|u|_{W^{s,p}(\mathbb{R}^d)} = ||u||_{L^q(\mathbb{R}^d)} = 1.$$

Since  $\tau > q \ge 1$  by (2.1), it follows from John–Nirenberg's inequality that

$$\|u\|_{L^{\tau}(\mathbb{R}^d)} \le C.$$

The proof is complete.  $\hfill\square$ 

The following result is a consequence of Lemma 2.1 and is used in the proof of Theorem 1.1.

**Lemma 2.2.** Let  $d \ge 1$ , p > 1, 0 < s < 1,  $q \ge 1$ ,  $\tau > 0$ , and  $0 < a \le 1$  be such that

$$\frac{1}{\tau} \ge a\left(\frac{1}{p} - \frac{s}{d}\right) + \frac{1-a}{q}.$$

Let  $\lambda > 0$  and 0 < r < R and set

$$D := \left\{ x \in \mathbb{R}^d : \lambda r < |x| < \lambda R \right\}.$$

Then, for  $u \in C^1(\overline{D})$ ,

$$\left(\int_{D} \left| u - \int_{D} u \right|^{\tau} dx \right)^{1/\tau} \leq C \left( \lambda^{sp-d} |u|_{W^{s,p}(D)}^p \right)^{a/p} \left( \int_{D} |u|^q dx \right)^{(1-a)/q}$$
(2.2)

for some positive constant C independent of u and  $\lambda$ .

**Proof.** By scaling, one can assume that  $\lambda = 1$ . Let  $0 < s' \leq s$  and  $\tau' \geq \tau$  be such that

$$\frac{1}{\tau'} = a\left(\frac{1}{p} - \frac{s'}{d}\right) + \frac{1-a}{q}.$$

From Lemma 2.1, we derive that

$$\left\| u - \oint_{D} u \right\|_{L^{\tau'}(D)} \le C \left| u \right|_{W^{s',p}(D)}^{a} \left\| u \right\|_{L^{q}(D)}^{1-a}.$$

The conclusion now follows from Jensen's inequality and the fact  $|u|_{W^{s',p}(D)} \leq C |u|_{W^{s,p}(D)}$ .  $\Box$ 

We are ready to give

• Proof of Theorem 1.1 in the case  $\alpha - \sigma \leq s$ . By Lemma 2.2, we have, for  $k \in \mathbb{Z}$ ,

$$\left(\int_{\mathscr{A}_k} \left| u - \int_{\mathscr{A}_k} u \right|^{\tau} dx \right)^{1/\tau} \le C \left( 2^{-(d-sp)k} |u|_{W^{s,p}(\mathscr{A}_k)}^p \right)^{a/p} \left( \int_{\mathscr{A}_k} |u|^q dx \right)^{(1-a)/q}.$$
(2.3)

Using (1.2), we derive from (2.3) that

$$\int_{\mathscr{A}_k} |x|^{\gamma\tau} |u|^{\tau} \, dx \le C 2^{(\gamma\tau+d)k} \Big| \int_{\mathscr{A}_k} u \Big|^{\tau} + C |u|^{a\tau}_{W^{s,p,\alpha}(\mathscr{A}_k)} \||x|^{\beta} u\|^{(1-a)\tau}_{L^q(\mathscr{A}_k)}. \tag{2.4}$$

Let  $m, n \in \mathbb{Z}$  be such that  $m \leq n-2$ . Summing (2.4) with respect to k from m to n, we obtain

$$\int_{\{2^m < |x| < 2^{n+1}\}} |x|^{\gamma\tau} |u|^{\tau} \, dx \le C \sum_{k=m}^n 2^{(\gamma\tau+d)k} \Big| \oint_{\mathscr{A}_k} u \Big|^{\tau} + C \sum_{k=m}^n |u|^{a\tau}_{W^{s,p,\alpha}(\mathscr{A}_k)} \||x|^{\beta} u\|^{(1-a)\tau}_{L^q(\mathscr{A}_k)}.$$
(2.5)

**Step 1**: Proof of i). Choose n such that

$$\operatorname{supp} u \subset B_{2^n}.$$

We have

$$\left| \oint_{\mathscr{A}_k} u - \oint_{\mathscr{A}_{k+1}} u \right|^{\tau} \le C \Big( 2^{-(d-sp)k} |u|_{W^{s,p}(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^p \Big)^{a\tau/p} \Big( \oint_{\mathscr{A}_k \cup \mathscr{A}_{k+1}} |u|^q \, dx \Big)^{(1-a)\tau/q}.$$

It follows that, with  $c = [(1 + 2^{\gamma \tau + d})/2]^{-1} < 1$ ,

$$2^{(\gamma\tau+d)k} \Big| \oint_{\mathscr{A}_k} u \Big|^{\tau} \le c 2^{(\gamma\tau+d)(k+1)} \Big| \oint_{\mathscr{A}_{k+1}} u \Big|^{\tau} + C |u|_{W^{s,p,\alpha}(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^{a\tau} ||x|^{\beta} u||_{L^q(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^{(1-a)\tau}.$$

We derive that

$$\sum_{k=m}^{n} 2^{(\gamma\tau+d)k} \Big| \oint_{\mathscr{A}_{k}} u \Big|^{\tau} \le C \sum_{k=m}^{n} |u|_{W^{s,p,\alpha}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{a\tau} \||x|^{\beta} u\|_{L^{q}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{(1-a)\tau}.$$
 (2.6)

Combining (2.5) and (2.6) yields

$$\int_{\{|x|>2^m\}} |x|^{\gamma\tau} |u|^{\tau} \, dx \le C \sum_{k=m}^n |u|^{a\tau}_{W^{s,p,\alpha}(\mathscr{A}_k \cup \mathscr{A}_{k+1})} \||x|^{\beta} u\|^{(1-a)\tau}_{L^q(\mathscr{A}_k \cup \mathscr{A}_{k+1})}.$$

One has, for  $s \ge 0$ ,  $t \ge 0$  with  $s + t \ge 1$ , and for  $x_k \ge 0$  and  $y_k \ge 0$ ,

$$\sum_{k=m}^{n} x_k^s y_k^t \le \left(\sum_{k=m}^{n} x_k\right)^s \left(\sum_{k=m}^{n} y_k\right)^t.$$
(2.7)

Applying this inequality with  $s = a\tau/p$  and  $t = (1 - a)\tau/q$ , we obtain that

H.-M. Nguyen, M. Squassina / Journal of Functional Analysis 274 (2018) 2661-2672 2667

$$\int_{\{|x|>2^m\}} |x|^{\gamma\tau} |u|^{\tau} \, dx \le C |u|^{a\tau}_{W^{s,p,\alpha}(\bigcup_{k=m}^{\infty} \mathscr{A}_k)} ||x|^{\beta} u||^{(1-a)\tau}_{L^q(\bigcup_{k=m}^{\infty} \mathscr{A}_k)}, \tag{2.8}$$

since  $a/p + (1-a)/q \ge 1/\tau$  thanks to the fact  $\alpha - \sigma - s \le 0$ .

**Step 2:** Proof of ii). Choose m such that

$$\operatorname{supp} u \cap B_{2^m} = \emptyset.$$

We have

$$\left| \oint_{\mathscr{A}_k} u - \oint_{\mathscr{A}_{k+1}} u \right|^{\tau} \le C \left( 2^{-(d-sp)k} |u|_{W^{s,p}(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^p \right)^{a\tau/p} \left( \oint_{\mathscr{A}_k \cup \mathscr{A}_{k+1}} |u|^q \right)^{(1-a)\tau/q}$$

It follows that, with  $c = (1 + 2^{\gamma \tau + d})/2 < 1$ ,

$$2^{(\gamma\tau+d)(k+1)} \Big| \oint_{\mathscr{A}_{k+1}} u \Big|^{\tau} \le c 2^{(\gamma\tau+d)k} \Big| \oint_{\mathscr{A}_{k}} u \Big|^{\tau} + C |u|_{W^{s,p,\alpha}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{a\tau} ||x|^{\beta} u||_{L^{q}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{(1-a)\tau}.$$

We derive that

$$\sum_{k=m}^{n} 2^{(\gamma\tau+d)k} \Big| \oint_{\mathscr{A}_{k}} u \Big|^{\tau} \le C \sum_{k=m-1}^{n-1} |u|_{W^{s,p,\alpha}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{a\tau} ||x|^{\beta} u||_{L^{q}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{(1-a)\tau}.$$
(2.9)

Combining (2.5) and (2.9) yields

$$\int_{\{|x|<2^{n+1}\}} |x|^{\gamma\tau} |u|^{\tau} \, dx \le C \sum_{k=m-1}^{n-1} |u|^{a\tau}_{W^{s,p,\alpha}(\mathscr{A}_k \cup \mathscr{A}_{k+1})} ||x|^{\beta} u||^{(1-a)\tau}_{L^q(\mathscr{A}_k \cup \mathscr{A}_{k+1})}.$$

As in Step 1, we derive from (2.7) that

$$\int_{\{|x|<2^{n+1}\}} |x|^{\gamma\tau} |u|^{\tau} dx \leq C |u|^{a\tau}_{W^{s,p,\alpha}(\bigcup_{k=-\infty}^{n} \mathscr{A}_{k})} ||x|^{\beta} u||^{(1-a)\tau}_{L^{q}(\bigcup_{k=-\infty}^{n} \mathscr{A}_{k})}.$$

The proof is complete in the case  $\alpha - \sigma \leq s$ .  $\Box$ 

We next turn to

• **Proof of Theorem 1.1 in the case**  $\alpha - \sigma > s$ . We follows the strategy in [5]. Since

$$\frac{1}{p} + \frac{\alpha - s}{d} \neq \frac{1}{q} + \frac{\beta}{d},$$

by scaling, one might assume that

$$|u|_{W^{s,p,\alpha}(\mathbb{R}^d)} = 1$$
 and  $||u||_{L^q(\mathbb{R}^d)} = 1.$ 

It is necessary from (1.4) that 0 < a < 1. Let  $0 < a_1, a_2 < 1$  ( $a_1, a_2$  are close to a and are chosen later) and  $\tau_1, \tau_2 > 0$  be such that

$$\frac{1}{\tau_1} = \frac{a_1}{p} - \frac{a_1s}{d} + \frac{1-a_1}{q} \quad \text{if} \quad \frac{a}{p} - \frac{as}{d} + \frac{1-a}{q} > 0,$$
  
$$\frac{1}{\tau} > \frac{1}{\tau_1} \ge \frac{a_1}{p} - \frac{a_1s}{d} + \frac{1-a_1}{q} \quad \text{if} \quad \frac{a}{p} - \frac{as}{d} + \frac{1-a}{q} \le 0,$$
 (2.10)

and

$$\frac{1}{\tau_2} = \frac{a_2}{p} + \frac{1 - a_2}{q}.$$

 $\operatorname{Set}$ 

$$\gamma_1 = a_1 \alpha + (1 - a_1) \beta$$
 and  $\gamma_2 = a_2 (\alpha - s) + (1 - a_2) \beta$ .

We have

$$\frac{1}{\tau_1} + \frac{\gamma_1}{d} \ge a_1 \left(\frac{1}{p} + \frac{\alpha - s}{d}\right) + (1 - a_1) \left(\frac{1}{q} + \frac{\beta}{d}\right) \tag{2.11}$$

and

$$\frac{1}{\tau_2} + \frac{\gamma_2}{d} = a_2 \left(\frac{1}{p} + \frac{\alpha - s}{d}\right) + (1 - a_2) \left(\frac{1}{q} + \frac{\beta}{d}\right).$$
 (2.12)

Recall that

$$\frac{1}{\tau} + \frac{\gamma}{d} = a\left(\frac{1}{p} + \frac{\alpha - s}{d}\right) + (1 - a)\left(\frac{1}{q} + \frac{\beta}{d}\right).$$
(2.13)

We now assume that

$$|a_1 - a|$$
 and  $|a_2 - a|$  are small enough, (2.14)

$$a_1 < a < a_2$$
 if  $\frac{1}{p} + \frac{\alpha - s}{d} < \frac{1}{q} + \frac{\beta}{d}$ , (2.15)

$$a_2 < a < a_1$$
 if  $\frac{1}{p} + \frac{\alpha - s}{d} > \frac{1}{q} + \frac{\beta}{d}$ . (2.16)

Using (2.14), (2.15) and (2.16), we derive from (2.11), (2.12), and (2.13) that

$$0 < \frac{1}{\tau_2} + \frac{\gamma_2}{d} < \frac{1}{\tau} + \frac{\gamma}{d} < \frac{1}{\tau_1} + \frac{\gamma_1}{d}.$$
 (2.17)

Since a > 0 and  $\alpha - \sigma > s$ , it follows from (2.14) that

$$\frac{1}{\tau} - \frac{1}{\tau_2} = (a - a_2) \left( \frac{1}{p} - \frac{1}{q} \right) + \frac{a}{d} (\alpha - \sigma - s) > 0$$
(2.18)

and, if  $\frac{a}{p} - \frac{as}{d} + \frac{1-a}{q} > 0$ ,

$$\frac{1}{\tau} - \frac{1}{\tau_1} = (a - a_1) \left( \frac{1}{p} - \frac{s}{d} - \frac{1}{q} \right) + \frac{a}{d} (\alpha - \sigma) > 0.$$
(2.19)

Since, by (2.10), (2.18), and (2.19),

$$1/\tau > 1/\tau_1$$
 and  $1/\tau > 1/\tau_2$ ,

it follows from (2.17) and Hölder's inequality that

 $|||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^{d}\setminus B_{1})} \leq C|||x|^{\gamma_{1}}u||_{L^{\tau_{1}}(\mathbb{R}^{d})} \quad \text{and} \quad |||x|^{\gamma}u||_{L^{\tau}(B_{1})} \leq C|||x|^{\gamma_{2}}u||_{L^{\tau_{2}}(\mathbb{R}^{d})}.$ 

Applying the previous case, we have

$$|||x|^{\gamma_1} u||_{L^{\tau_1}(\mathbb{R}^d)} \le C |u|^{a_1}_{W^{s,p,\alpha}(\mathbb{R}^d)} |||x|^{\beta} u||^{(1-a_1)}_{L^q(\mathbb{R}^d)} \le C$$

and

$$|||x|^{\gamma_2} u||_{L^{\tau_2}(\mathbb{R}^d)} \le C |u|^{a_2}_{W^{s,p,\alpha}(\mathbb{R}^d)} |||x|^{\beta} u||^{(1-a_2)}_{L^q(\mathbb{R}^d)} \le C.$$

The conclusion follows.  $\Box$ 

**Remark 2.3.** In the case 0 , one has, for <math>1/2 < s < 1 (see [7]),

$$\left\| u - \oint_D u \right\|_{L^{p^*}(D)} \le C(1-s)^{1/p} |u|_{W^{s,p}(D)}.$$

The same proof yields, with  $\alpha_1 = \alpha_2 = \alpha = 0$ ,  $\sigma > -s$ , and  $1/\tau + \gamma/d > 0$ ,

$$||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^{d})} \leq C(1-s)^{a/p}|u|^{a}_{W^{s,p}(\mathbb{R}^{d})}||x|^{\beta}u||^{(1-a)}_{L^{q}(\mathbb{R}^{d})} \quad \text{for } u \in C^{1}_{c}(\mathbb{R}^{d}).$$

Using the results in [2,3], one knows that

$$\lim_{s \to 1} (1-s)^{1/p} |u|_{W^{s,p}(\mathbb{R}^d)} = C_{d,p} \|\nabla u\|_{L^p(\mathbb{R}^d)} \quad \text{for } u \in C_c^1(\mathbb{R}^d).$$

We then derive that

$$|||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^{d})} \leq C||\nabla u||_{L^{p}(\mathbb{R}^{d})}^{a}|||x|^{\beta}u||_{L^{q}(\mathbb{R}^{d})}^{(1-a)} \quad \text{for } u \in C^{1}_{c}(\mathbb{R}^{d}).$$

**Remark 2.4.** In the case  $\alpha - \sigma \leq s$ , the proof also shows that if  $1/\tau + \gamma/d > 0$ , then

$$|||x|^{\gamma}u||_{L^{\tau}(\mathbb{R}^d\setminus B_r)} \leq C|u|^a_{W^{s,p,\alpha}(\mathbb{R}^d\setminus B_r)}|||x|^{\beta}u||^{(1-a)}_{L^q(\mathbb{R}^d\setminus B_r)} \quad \text{for } u \in C^1_c(\mathbb{R}^d),$$

and if  $1/\tau + \gamma/d < 0$ , then

$$|||x|^{\gamma}u||_{L^{\tau}(B_{r})} \leq C|u|^{a}_{W^{s,p,\alpha}(B_{r})}|||x|^{\beta}u||^{(1-a)}_{L^{q}(B_{r})} \quad \text{for } u \in C^{1}_{c}(\mathbb{R}^{d} \setminus \{0\}).$$

for any r > 0. In fact, the proof gives the result with  $r = 2^j$  with j = m in the first case and j = n + 1 in the second case. However, a change of variables yields the result mentioned here.

## 3. On the limiting case $1/\tau + \gamma/d = 0$

The main result in this section is

**Theorem 3.1.** Let  $d \ge 1$ , p > 1, 0 < s < 1,  $q \ge 1$ ,  $\tau > 1$ ,  $0 < a \le 1$ ,  $\alpha_1$ ,  $\alpha_2$ ,  $\alpha$ ,  $\beta$ ,  $\gamma \in \mathbb{R}$  be such that  $\alpha = \alpha_1 + \alpha_2$ , (1.2) holds, and

$$0 \le a - \sigma \le s.$$

Let  $u \in C_c^1(\mathbb{R}^d)$ , and 0 < r < R. We have

i) if  $1/\tau + \gamma/d = 0$  and supp  $u \subset B_R$ , then

$$\left(\int_{\mathbb{R}^d} \frac{|x|^{\gamma\tau}}{\ln^{\tau}(2R/|x|)} |u|^{\tau} \, dx\right)^{1/\tau} \le C|u|^a_{W^{s,p,\alpha}(\mathbb{R}^d)} ||x|^{\beta} u||^{(1-a)}_{L^q(\mathbb{R}^d)},$$

*ii)* if  $1/\tau + \gamma/d = 0$  and supp  $u \cap B_r = \emptyset$ , then

$$\left(\int_{\mathbb{R}^d} \frac{|x|^{\gamma\tau}}{\ln^{\tau}(2|x|/r)} |u|^{\tau} \, dx\right)^{1/\tau} \le C |u|^a_{W^{s,p,\alpha}(\mathbb{R}^d)} ||x|^{\beta} u||^{(1-a)}_{L^q(\mathbb{R}^d)}$$

**Proof.** In this proof, we use the notations in the proof of Theorem 1.1. We only prove the first assertion. The second assertion follows similarly as in the spirit of the proof of Theorem 1.1. Fix  $\xi > 0$ . Summing (2.4) with respect to k from m to n, we obtain

$$\int_{\{|x|>2^{m}\}} \frac{1}{\ln^{1+\xi}(\tau/|x|)} |x|^{\gamma\tau} |u|^{\tau} dx$$

$$\leq C \sum_{k=m}^{n} \frac{1}{(n-k+1)^{1+\xi}} \Big| \int_{\mathscr{A}_{k}} u \Big|^{\tau} + C \sum_{k=m}^{n} |u|^{a\tau}_{W^{s,p,\alpha}(\mathscr{A}_{k})} ||x|^{\beta} u|^{(1-a)\tau}_{L^{q}(\mathscr{A}_{k})}. \quad (3.1)$$

By Lemma 2.2, we have

$$\left| \oint_{\mathscr{A}_k} u - \oint_{\mathscr{A}_{k+1}} u \right| \le C \left( 2^{-(d-sp)k} |u|_{W^{s,p}(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^p \right)^{a/p} \left( \oint_{\mathscr{A}_k \cup \mathscr{A}_{k+1}} |u|^q \right)^{(1-a)/q}$$

Applying Lemma 3.2 below with  $c = (n - k + 1)^{\xi}/(n - k + 1/2)^{\xi}$ , we deduce that

$$\frac{1}{(n-k+1)^{\xi}} \left| \oint_{\mathscr{A}_{k}} u \right|^{\tau} \leq \frac{1}{(n-k+1/2)^{\xi}} \left| \oint_{\mathscr{A}_{k+1}} u \right|^{\tau} + C(n-k+1)^{\tau-1-\xi} |u|_{W^{s,p,\alpha}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{a\tau} \||x|^{\beta} u\|_{L^{q}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{(1-a)\tau}. \quad (3.2)$$

We have, for  $\xi > 0$  and  $k \leq n$ ,

$$\frac{1}{(n-k+1)^{\xi}} - \frac{1}{(n-k+3/2)^{\xi}} \sim \frac{1}{(n-k+1)^{\xi+1}}.$$
(3.3)

Taking  $\xi = \tau - 1 > 0$ , we derive from (3.2) and (3.3) that

$$\sum_{k=m}^{n} \frac{1}{(n-k+1)^{1+\xi}} \Big| \oint_{\mathscr{A}_{k}} u \Big|^{\tau} \le C \sum_{k=m}^{n} |u|_{W^{s,p,\alpha}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{a\tau} ||x|^{\beta} u||_{L^{q}(\mathscr{A}_{k}\cup\mathscr{A}_{k+1})}^{(1-a)\tau}.$$
(3.4)

Combining (3.1) and (3.4), as in (2.8), we obtain

$$\int_{\{|x|>2^m\}} \frac{|x|^{\gamma\tau}}{\ln^{1+\xi}(2^{n+1}/|x|)} |u|^{\tau} \, dx \le C \sum_{k=m}^n |u|_{W^{s,p,\alpha}(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^{a\tau} \||x|^{\beta} u\|_{L^q(\mathscr{A}_k \cup \mathscr{A}_{k+1})}^{(1-a)\tau}.$$

Applying inequality (2.7) with  $s = a\tau/p$  and  $t = (1 - a)\tau/q$ , we derive that

$$\int_{\{|x|>2^m\}} \frac{|x|^{\gamma\tau}}{\ln^{1+\xi}(2^{n+1}/|x|)} |u|^{\tau} \, dx \le C |u|_{W^{s,p,\alpha}(\bigcup_{k=m}^{\infty} \mathscr{A}_k)}^{a\tau} ||x|^{\beta} u||_{L^q(\bigcup_{k=m}^{\infty} \mathscr{A}_k)}^{(1-a)\tau}.$$

This yields the conclusion.  $\Box$ 

In the proof of Theorem 3.1, we used the following elementary lemma:

**Lemma 3.2.** Let  $\Lambda > 1$  and  $\tau > 1$ . There exists  $C = C(\Lambda, \tau) > 0$ , depending only on  $\Lambda$  and  $\tau$  such that, for all  $1 < c < \Lambda$ ,

$$(|a|+|b|)^{\tau} \le c|a|^{\tau} + \frac{C}{(c-1)^{\tau-1}}|b|^{\tau} \text{ for all } a, b \in \mathbb{R}.$$

**Remark 3.3.** In Theorem 3.1, we only deal with the case  $\tau > 1$  (recall that Theorem 1.1 holds for  $\tau > 0$ ). Similar proof as in the one of Theorem 3.1 holds for the case  $\tau > 0$  under the condition that the constant  $\tau$  for the power log is replaced by any positive constant (strictly) greater than 1.

### References

- B. Abdellaoui, R. Bentifour, Caffarelli–Kohn–Nirenberg type inequalities of fractional order with applications, J. Funct. Anal. 272 (2017) 3998–4029.
- [2] J. Bourgain, H. Brezis, P. Mironescu, Another look at Sobolev spaces, in: J.L. Menaldi, E. Rofman, A. Sulem (Eds.), Optimal Control and Partial Differential Equations. A Volume in Honor of Professor Alain Bensoussan's 60th Birthday, IOS Press, Amsterdam, 2001, pp. 439–455.
- [3] J. Bourgain, H. Brezis, P. Mironescu, Limiting embedding theorems for  $W^{s,p}$  when  $s \uparrow 1$  and applications, J. Anal. Math. 87 (2002) 77–101.
- [4] L. Caffarelli, R. Kohn, L. Nirenberg, Partial regularity of suitable weak solutions of the Navier–Stokes equations, Comm. Pure Appl. Math. 35 (1982) 771–831.
- [5] L. Caffarelli, R. Kohn, L. Nirenberg, First order interpolation inequalities with weights, Compos. Math. 53 (1984) 259-275.
- [6] R. Frank, R. Seiringer, Non-linear ground state representations and sharp Hardy inequalities, J. Funct. Anal. 255 (2008) 3407–3430.
- [7] V. Maz'ya, T. Shaposhnikova, On the Bourgain, Brezis, and Mironescu theorem concerning limiting embeddings of fractional Sobolev spaces, J. Funct. Anal. 195 (2002) 230–238.
- [8] H-M. Nguyen, M. Squassina, On Hardy and Caffarelli–Kohn–Nirenberg inequalities, preprint.